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Section A: { 30 marks )

Questions 1 to 15 carry 2 marks each. For each question, four opfions are given. One
of them is the correct answer. Make your choice {1, 2, 3 or 4). Shade the correct oval
{1, 2, 3 or 4) on the Optical Answer Sheet.

1. Which number below is 100 more than 27897

(1) 2689
2) 2799
(3) 2889
4y 3789
2. 62405 =60 000 + + 400+ 5
(1) 200
@ 2
(3) 2000
(4) 20000

3. Find the sum of the first 3 multiples of 4,

m 7

2y 12
3) 24
(4) 40

4. A number when rounded off to the nearest 100 is 3900. The smallest possible whole

number is

(H 3840
{2) 3850
{3) 3910

(4) 3950



6 is a common factor of

(1) 2and3

(2) 12and32
{3) 16 and 26
(4) 24 and30

WH F E

Which one of the following letters does not have perpendicular lines in it?

1 W
(2) H
@ F
4) E

In the figure below, how many lines are paraliel o line AB?

A

(D
(2)
(3)
(4)

W N e



m |
@ =
@ 2
@ =

The difference between 6—1 and i is

) 5%
) 6%
3) 6%
4) 6—;—

There are 50 spectators in the stadium. %of them are boys and % of them are

girls and the rest are adults. How many aduits are there?

1) 10
@ 15
(3). 25

@) 35



11.  The length of a rectangular room is 14 m. Its breadth is half its length. Find the area
of the rectangular room.

1
()
(3)
(4)

7 m?

42 m?
49 m?
98 m?

12. Melissa is facing the lift. She turns 135° in a clockwise direction. What will she be
facing now?

(1)
(2)
(3)
(4)

Fast

Arcade
Foo Toy Shop
Restaurant : Handphone Shop
Lift . Supermarket

Cinema

Arcade

Handphone Shop

Fast Food

Toy Shop

13.  Sweets are sold in packets of 8. Jenny wants to give 2 sweets each to 33 children.
How many packeis of sweets should she buy?

(1)
(2)
(3)

@)

8
g
41
66



14,  The total costof a smartphone and a tablet is $1300. The tablet costs $340 more
than the smartphone. What is the cost of the smart phone?

(1) $140
(2)  $480
(3)  $820
(4)  $960

15.  Find the missing number in the number pattern below.

1,4,9,16, L| 36

(1) 23
2y 24
3 25
4) 26
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Section B: { 40 marks )

Questions 16 to 35 carry 2 marks each. Write your answers in the spaces

provided. For questions which require units, give your answers in the units
stated.

16.  Whatis the second common muitiple of 4 and 87

Ans ;

17. Asrange the numbers below in order, beginning with the greatest.

23369 , 36892 , 23396 , 38892

Greatest Smallest

18.  How many quarters are there in 4 wholes?

T Ans:

Do not write
in this column




On©©

Arrange these numbers to form the greatest 4~-digit odd number.

Ans:

20.  The figure below is not drawn to scale. It is a square. Find the sum of the
value of L x andZy.

20°

Ans : ¢

21.  Atravel fair drew 96 000 peeple on the first day. Half of that number visited
the fravel fair on the second day. Find the number of people that visited the
travel fair on both days.

Ans :

Do not write
in this column




22.  Using a protractor, label and draw an angle of 55° such that £ AOB = 55°,
f
i
O
23. PQRS is a square of side 11 cm, The triangle has an area of 45 cm?.
What is the area of the shaded part?
Q
11 cm
RY
Ans : om
24,  Measure £LXYZ.
“Ans °

10

Do not wiite
int this column




25.  How many pairs of perpendicular lines are there in the figure?
B G

AN
AN
\
[N

_-""""’D

Ans :

26.  Find the value of % x 3. Express your answer in the simplest form.

Ans:

27.  The figure, not drawn to scale, is made up of 9 small squares. How many

more squares must be shaded so that —g- of the figure is shaded?

.. ’Q-;‘.:

Do not wrile
In this columa

g




28, Express your answer in the simplest form.

ML—-—\
] -

3
P fo
H

Ans :

28.  The figure is not drawn to scale. Itis made up of 2 rectangles, ABCG and

EFGB-Fheline-DG-is-equalio-theine-BE: What is the total area of the
figure as shown below.

8 cm

A G .-F
cm
D E
10 cm
1é C
ey

6 cm

Ans: cm?

30. Regina has $146. Her parents give her $54 more. if Regina saves :% of her

money, how much money did she save?

Ans:$

12

Ba not write
n this column




31.  Marvin had a piece of cloth measuring 20 cm by 9 cm. He wanted to cut out Bo ot it
smaller squares measuring 3 cm by 3 cm from it. What is the maxinury s i cotan
number of smaller squares that can be cut from the piece of cloth?

Ans ;

32.  The following figure shows 4 rectangles inside square ABCD. The length of
DC is 8 cm. Find the length of DF.

A B
F
24 cm? 24 em?
D ! ] c

Ans cm

13



33.

Three identical squares are used to form the figure below. The area of each
identical square is 16 em?. Find the perimeter of the figure.

Ans: cm
34.  Nicki is 9 years older than Johnny.
11 years ago, the sum of their age was 63.
How old is Johnhy now?
Ans :
35.

A group of children lined up in 8 rows in the field for morning assembly.
There was equal number of children in each row. Royston was in one of the
rows. In his row, he was fifth from the front and third from the back. How
many children were there in the field altogether?

Do not write
Ia this column

Ans:

14




Section C: (30 marks) Do not wrila
For questions 36 to 43, show your working clearly in the space provided for In this Golumn
each question and write your answer in the space provided. The number of
marks available is shown in brackets [ ] at the end of each question

or part-question.

36. 814 people attended a concert. There were 278 children. There were 136
more women than men. How many men were there?

Ans: [3]

37. Fiona spent -;— of her money on a dress and $39 on a bag. If she had $121

left, how much money did she have at first?

. Ans: - [3]

16



38. A walch cost $20 more than a pair of shoes. Mrs Tan bought 2 Do not write
watches and 3 pairs of shoes. The total amount spent is $550. In this column
What is the cost of a watch and a pair of shoes?

Ans: {4}

39. There are 9 containers and 8 packets of sweets. There are 281 sweets in
total. Each packet contains 15 sweets. How many sweets are there in
each container? '

Ans: {4]

- 18



40.  Raymond had $350. If he spent $50 on books and some of his mongy on
bags, he would be left with % of his money. How much did he spend on

bags?

Ans: (4]

41, % of the animals on a farm were ducks. % of them were geese and the rest

were chickeﬁé. There were 1200 ducks, geese and chickens altogether.
How many more chickens than geese are there in the farm?

Ans:. [4]

17

Do not write
in this column




42.

Tom had 215 more stickers than Ahmad at first. Then Tom bought 55
more stickers. In the end, Tom has 3 fimes as many stickers as Ahmad.

(a) How many stickers did Ahmad have?
(b) Find the total number of stickers Tom and Ahmad had in the end?

Ans: (a}
(b}

2
[2]

18

Do nel wrile
In this column




43.

Alex, Sandy and Zara bought identical handphone covers and pouches.
Alex bought 4 handphone covers and 2 pouches. Sandy bought 1
handphone cover and 2 pouches. Zara bought 1 pouch. Sandy spent $20
more than Zara. How much did the 3 people spend in total?

Ans: 4]

19

Do notwrite
In this column




Answer

I/ A
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16 38 692, 36 892, 23 396, 23 369 16 9625 70
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11/4 .5 11/2 92 60

Pgi



Answer Key





W+M-> 814 -278 =536

t 2u - 536 — 136 = 400

1u > 400 = 2 = 200
M > 200

Q31) |20+3=6R2
9+3=3
Bx3=18
Q32) g3+2=4
24+4=86
Q33) |4x8=32
Q34) |63-9=54
54 +2 =27
27+11 =38
Q35) 5+3=8
8-1=7
7x8=256
SECTION C
Q36)
814 people
278
\ . S
N
W+ M
c -
1u 136 1u
. A
Y 4
w M

Pg 2







Q37)

_i_1

5 5
4U > $39 + $121 = $160
1U > $160 + 4 = $40
5U > $40 X 5 = 3200

Q38)

1u $20

z

W 1u $20

1u

5u > $550 - $40 = $510
1u-> $510 = 5= $102

W > $102 + $20 = $122

C > $102

W+C > $122 +$102 = $224

Q39)

1 packet > 15

8 packets > 15x 8 =120

9 Containers —» 291 - 120 =171
1 Container » 171 +9=19

Q40)

5u > $350
1u = $350 =5 =$70
3u > $70 x 3 = $210 (left)

Bag > $350 - $210 - $50 = $90

Pg3







Q41)

R

chicken
1.4
3 12
i_3
4 12
1u > 1200+ 12 =100
C>100x5=500
G -=>100x3 =300
More = 500 — 300 = 200
Q42)
T 1u 215 55
A 1u o
2u
a) 2U > 216+ 55 =270
1U=>270+2=135
b) Total > 135 x4 =540
Q43) S>1H+ 2P
Z=>1P

More = 1H + 1P = $20

TotalP>2+2+1=5

TotalH >4+ 1=5

Total bought (spent) - 5H + 5P
=5x %20
= $100

Pg 4







